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70 7 = 2 |B® 0.7500 70 00000] 32| 075
71 | KR ®l 3 |mEsm 0.7500 70 0.7500
72 [mEzan | 5 | 0.7500 70| 07500
73 [KWHRTF 3 |® 0.7500 70 0.7500
74 [&% BR 2 |BaRd 0.6250 74| 06250
75 |BEiLitFmm 3 |ZAaRL 0.6250 74 0.6250
76 |#A 3 |mER 0.5000 76 0.5000
77 |BE BB 3 |AIR 0.5000 76 0.5000
78 [x5 25 3 |es 0.5000 76 | 05000
79 |hNEAEE 2 |8 0.5000 76 05000
80 |&iEHHIR 3 |REx 0.5000 76 0.5000
81 |&H =@ 2 |AR 0.5000 76 0.5000
82 | ki FTE 3 |MEHR 0.3750 82 0.3750
83 /ML KiE 3 |xiEt 0.3750 82 0.3750
84 |ZHk HiT 3 |KEL 0.3750 82 0.3750
85 |E &K 3 |wEdt 0.2500 85 0.2500
86 |#E HE 2 |®rETC 0.2500 85 0.2500
87 |#& MuR 3 |REEH 0.2500 85 0.2500
88 [ st& 3 vk Tomis Team | 0.9500 85| 02500
89 |mn#h % 3 |ZAaRL 0.2500 85 0.2500
90 |FiEX B 3 |ZAaRL 0.2500 85 0.2500
o [xmzar | 3 [g8R 0.1875 91 0.1875




